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WB Police Constable (Prelims) Exam. – Practice Set
Answer with Explanation
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xÄy!‰þ¦þy¢Å

1. (a) x•Äyþ™„þ îûöì›Ÿ‰þw ›‹%›”yîû xyîû. !¢. ›‹%›”yîû ˜yöì›£z
þ™!îû!‰þ“þÐ !“þ!˜ 1936-1942 ¢yœ þ™ëÅhsþ ‘þy„þy !îÙ»!î”Äyœöìëûîû
vþzþ™y‰þyëÅ !Šéöìœ˜Ð ²Ìy‰þ#˜ ¦þyîûöì“þîû £z!“þ£yöì¢îû çþ™îû xöì̃ „þ
„þy‹ „þöìîûöìŠé˜Ð

2. (a) ¢O#î˜#
„,þ¡Œ„%þ›yîû !›e !Šéöìœ˜ ¢y‚îy!”„þ ßþºöì”Ÿ# xyöì̈ yœ˜ ç îÊáþ
¢›yöì‹îû ~„þ‹˜ ö˜“þyÐ !“þ!˜ ¢O#î˜# ˜yöì› ~„þ!Ýþ
‹y!“þëû“þyîy”# îy‚œy þ™!e„þy ¢Á™y”˜y „þîûöì“þ˜Ð

3. (c) ö„þŸîy˜¨ ¦þyîû“þ# ›y›œy– 1973
ö„þŸîy˜¨ ¦þyîû“þ# ×#þ™” †œîÅ% ç çîû¢y!¦þÐ ö„þîûyœy îûy‹Ä
~î‚ xy˜yîû Sîûy£zÝþ !þ™!ÝþŸ˜ S!¢!¦þœV 135 ~îû 135V
!£öì¢öìî þ™!îû!‰þ“þÐ ö„þŸîy˜¨ ¦þyîû“þ#îû îûyëû ¦þyîûöì“þîû ¢%!²Ì›
ö„þyöìÝÅþîû ~„þ!Ýþ ë%†yhsþ„þyîû# !¢kþyhsþ ëy ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû
›)œ „þyàþyöì›yîû ›“þîy”öì„þ îû*þ™öìîû…y ö”ëûÐ

4. (b) xyîûî ¢y†öìîû
¦þyîûöì“þîû ”!Çþ’ þ™!Øþöì› œyÇþym#þ™– !›!˜„þëû ç xy!›˜!”!¦þ
²Ì¦,þ!“þ m#þ™þ™%O xyîûî ¢y†öìîû xî!ßþi“þÐ ~…yöì̃  ²Ìyëû 25!Ýþ
m#þ™ xyöìŠéÐ ~£z m#þ™=!œ ¢î£z ²Ìîyœ myîûy †!àþ“þÐ
œyÇþym#öìþ™îû îûy‹•y˜# £œ „þy¦þyîûy!uþÐ

5. (a) 2024 ¢yöìœîû ˜îûçöìëû ö‰þ¢ Ý%þ˜Åyöì›rÝþ ‰þÄy!Á™ëû̃  £öìœ˜
›Äy†˜yœ „þyœÅöì¢˜Ð 26 ö› öíöì„þ 7 ‹%̃  ˜îûçöìëû ö‰þ¢
Ý%þ˜Åyöì›rÝþ xyöìëûy!‹“þ £öìëû!ŠéœÐ

6. (c) ~œ. !î. Ÿyßþf#
œyœ îy£y”%îû Ÿyßþf# !Šéöìœ˜ ¦þyîûöì“þîû !m“þ#ëû ²Ì•y˜›sþf# ~î‚
¦þyîû“þ#ëû ‹y“þ#ëû „þ‚öì@ùÌöì¢îû ~„þ‹˜ ”œöì̃ “þyÐ 1920 ¢yöìœ
!“þ!˜ ¦þyîûöì“þîû ßþºy•#˜“þy xyöì̈ yœöì̃  öëy†”y˜ „þöìîû̃ Ð

7. (c) !þ™Ý%þ£zÝþyîû#
!þ™Ý%þ£zÝþyîû# ²Ìy’#öì”öì£îû ¢îöì‰þöìëû =îû&cþ™)’Å x˜yœ @ùÌ!sþiÐ
!þ™Ý%þ£zÝþyîû#öì„þ !˜ëûsþf’„þyîû# @ùÌsþi# îy ›%…Ä @ùÌ!sþi îy ²Ì¦%þ @ùÌ!sþi îöìœÐ

8. (c) ¢%öìîûw˜yí îÄy˜y!‹Å
¢%öìîûw˜yí îû!‰þ“þ @ùÌsþi ‘A Nation in Making’Ð ~Šéyvþüyç
1876 !…Êƒ ¢%öìîûw˜yí £z!uþëûy˜ xÄyöì¢y!¢öìëûŸ˜ ²Ì!“þÛþy „þöìîû̃ Ð
£z‚öìîû‹ !¢!¦þ!œëûy˜îûy “¤þyöì„þ ò¢yöìîûuþyîû ˜Ýþó xy…Äy ö”˜Ð
¢%öìîûw˜yíöì„þ òîûyÜTÉ=îû&ó– òîy‚œyîû ›%„%þÝþ£#˜ îûy‹yó ²Ì¦,þ!“þ
vþzþ™y!•öì“þ ¦)þ!¡ì“þ „þöìîû̃ Ð

9. (c) !ŸÇþy öëïí “þy!œ„þy¦%þ_«Ð ¢‚!î•yöì̃ îû 12!Ýþ “þþ™!Ÿöìœîû ›öì•Ä
7 ˜Áºîû “þþ™!Ÿœ îûöìëûöìŠé îûy‹Ä– ö„þw ç öëïí “þy!œ„þyÐ

10. (b) ¢Á±!“þ ²Ì…Äy“þ ¦þyîûöì“þîû †!’“þ!î” ç þ™!îû¢‚…Äy˜!î”
!¢. xyîû. îûyç 103 îŠéîû îëûöì¢ ²Ìëûy“þ £öìœ˜Ð !¢. xyîû.
îûyç „þ’ÅyÝþöì„þ ‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜Ð !“þ!˜ 2016 ¢yöìœ
þ™p¦)þ¡ì’ ¢Á¿yöì̃  ¦)þ!¡ì“þ £öìëû!Šéöìœ˜Ð

11. (b) ›£y˜”# þ™!“þ“þ £öìëûöìŠé îöìDyþ™¢y†öìîûÐ ~!Ýþ Šé!_Ÿ†vþü îûyöì‹Äîû
!¢D¦þ# þ™y£yvþü öíöì„þ vþzêþ™§¬ £öìëû ç!vþŸyîû ›•Ä !”öìëû ²Ìîy!£“þ
£öìëû ¢y†öìîû þ™öìvþüöìŠéÐ ~£z ˜”#îû çþ™îû ÷“þ!îû £öìëûöìŠé !£îûy„%þ”
î¤y•Ð

12. (a) ›y˜î Ÿîû#öìîû ë„,þöì“þ £zvþz!îûëûy ÷“þ!îû £ëûÐ ~£z £zvþz!îûëûy ›)öìeîû
›y•Äöì› Ÿîû#öìîûîû îy£zöìîû öî!îûöìëû ëyëûÐ ›)e öî!ŸÇþ’ Ÿîû#öìîû
•öìîû îûy…öìœ £zvþz!îûëûy þ™!îû’“þ £ëû xÄyöì›y!˜ëûyëû ëy Ÿîû#öìîûîû
þ™öìÇþ Çþ!“þ„þyîû„þÐ

13. (a) xíÅ „þ!›Ÿ˜
ö„þw ç îûyöì‹Äîû ›öì•Ä îûy‹ßþº î^ùÝþöì̃ îû ‹˜Ä xíÅ „þ!›Ÿ˜
†àþ˜ „þîûy £ëûÐ ~!Ýþ 1951 ¢yöìœ 22 ˜öì¦þÁºîû †!àþ“þ £ëû
!˜vþz !”!ÍÔöì“þÐ î“Åþ›y˜ ö‰þëûyîû›Äy˜ £öìœ˜ ~˜. ö„þ. !¢‚Ð

14. (b) ¦þyîû“þ#ëû !îû‹y¦Åþ îÄyöìBþîû îûyÜTÉ#ëû„þîû’ 1949 ¢yöìœ £ëûÐ 1935
¢yöìœîû ¦þyîû“þ Ÿy¢˜ xy£z̃  x˜%ëyëû# 1 ~!²Ìœ 1935 ¢yöìœ
!îû‹y¦Åþ îÄyBþ xšþ £z!uþëûy ßþiy!þ™“þ £ëûÐ

15. (c) îÏ$›îy†Å ²Ì„þyŸ „þîûœ !îöìÙ»îû !î!œç!˜ëûy¢Åöì”îû “þy!œ„þyÐ îÏ$›îy†Å
!î!œç˜y!îû‹ £z˜öìvþ: x˜%¢yöìîû •˜# îÄ!_«öì”îû “þy!œ„þyëû
~!Ÿëûyîû •˜# îÄ!_« £öìœ˜ ö†ï“þ› xy”y!˜Ð ö†ï“þ› xy”y!˜îû
ö›yÝþ ¢Á™!_îû þ™!îû›y’ 100 !î!œëû̃  ›y!„Åþ˜ vþœyîûÐ

16. (c) ¦þyîûöì“þîû ²Ìí› ˜ÄyŸ˜yœ þ™y„Åþ !‹› „þîûöìîÝþ 1936 ¢yöìœ
ßþiy!þ™“þ £öìëûöìŠéÐ ~!Ýþ ¦þyîûöì“þîû vþz_îûy…[þ îûyöì‹Äîû ÷˜!˜“þyœ
ö‹œyëû xî!ßþi“þ ~î‚ ~£z ˜ÄyŸ˜yœ þ™y„Åþ!Ýþîû ˜y›„þîû’ ~„þ‹˜
¢%þ™!îû!‰þ“þ !Ÿ„þyîû# ~î‚ ²Ì„,þ!“þîy”#îû ˜y›y˜%¢yöìîû îûy…y £ëûÐ

17. (b) ¦þyîûöì“þ ¢îÅy!•„þ …!˜‹ ö“þœ vþzêþ™y”„þ îûy‹Ä!Ýþ £œ ›£yîûyÜTÉÐ
xyîûî ¢y†öìîûîû ›£#öì¢yþ™y˜ xMþéöìœîû òöîyöìÁº £y£zó îy
ò›%Áºy£zéôé£y£zó ²Ì•y˜ ö„þwÐ ~!Ýþ ¦þyîûöì“þîû …!˜‹ ö“þœ
vþzöì_yœöì̃ îû î,£_› ö„þwÐ

18. (c) “þyöìOyöìîûîû î,£öì”Ù»îû ›!¨öìîûîû !˜›Åy“þy þ™ÍÔîîûy‹ ›öì£w î›Å̃ Ð
þ™ÍÔî î‚öìŸîû ö×Ûþ îûy‹y !Šéöìœ˜ “þyîû þ™%e ²Ìí› ˜îû!¢‚£
î›Å̃ Ð ²Ìí› ˜îû!¢‚£ î›Å̃  ‰þyœ%„þÄîûy‹ ²Ìí› þ™%œöì„þŸ#öì„þ
þ™îûyhßþ „þöìîû ›£yîÍÔ ç îy“þyþ™# ö„þyuþ @ùÌ£’ „þöìîû̃ Ð

19. (a) ¢‚îy” ²Ì¦þy„þîû
¢‚îy” ²Ì¦þy„þöìîûîû ²Ì„þyŸ„þ !Šéöìœ˜ {Ù»îû‰þw =®Ð
1831 ¢yöìœ ¢y®y!£„þ þ™!e„þy !£öì¢öìî ~£z þ™!e„þyîû ëyey
Öîû& £öìëû!ŠéœÐ
1839 ¢yöìœ xyÝþ îŠéîû þ™îû ~!Ýþ ÷”!˜„þ þ™!e„þyöì“þ îû*þ™yhsþ!îû“þ
£ëûÐ

20. (b) £zrÝþyîû̃ ÄyŸ˜yœ ö¢yœyîû xÄyœyöìëûöìªîû 99“þ› ¢”¢Ä îûyöìÜTÉîû
ßþº#„,þ!“þ öþ™œ ößþ™˜Ð £zrÝþyîû̃ ÄyŸ˜yœ ö¢yœyîû xÄyœyöìëûöìªîû
î“Åþ›y˜ !vþöìîûQîû ö‹˜yöìîûœ !£öì¢öìî þ™” xœ‚„,þ“þ „þöìîû
îûöìëûöìŠé˜ vþƒ x‹ëû ›yí%îûÐ
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21. (a) “þy!›œ˜yvþY
22. (c) „þ!’„þy!î£#˜ îû_«öì„þ îû_«îû¢ îöìœÐ

îû_«îû¢ £œ îûöì_«îû ~„þ!Ýþ =îû&cþ™)’Å vþzþ™y”y˜Ð ~!Ýþ £yœ„þy
£œ%”y¦þ “þîûœ ëy ö”öì£îû !î!¦þ§¬ ²Ì„þyîû îû_«îû¢ •yîû’ „þöìîûÐ
›y˜îöì”öì£îû Ÿ“þ„þîûy 55 ¦þy†£z îû_«îû¢Ð

23. (c) ¢%¡ì%Á¬y„þyöì[þ
ö›yÝþîû ˜y¦Åþ ö„þw#ëû ßþ¬yëû%“þöìsþfîû ¢y•yîû’“þ ¢%¡ì%Á¬yÐ Ÿîû#öìîûîû
öþ™Ÿ# öíöì„þ C.N.S ¢‚öì„þ“þ þ™yàþyëûÐ ~£z ˜y¦Åþ=!œ vþzöì_‹˜y
î£˜ „þöìîû ¢%¡ì%Á¬y„þyöì[þ !˜öìëû ëyëûÐ

24. (a) £z!í!œ˜
£z!í!œ˜éôé~îû ¢‚öì„þ“þ C2H4Ð ö„þyöì̃ y †Äy¢ ç öþ™öìÝþÆy!œëûy›
…!˜îû ²Ìy„,þ!“þ„þ †Äyöì¢ £z!í!œ˜ þ™yçëûy ëyëûÐ

25. (b) ¢Á±!“þ ˜ÄyŸ˜yœ !vþöìšþª xÄy„þyöìvþ!›îû „þ›yuþÄyrÝþ !£öì¢öìî
!˜ë%_« £öìœ˜ =îû&‰þîû’ !¢‚Ð ~!Ýþ ßþiy!þ™“þ £öìëû!Šéœ 9 !vþöì¢Áºîû
1949 ¢yöìœÐ ~!Ýþ ›£yîûyöìÜTÉîû þ™%öì’öì“þ xî!ßþi“þÐ

26. (d) Spurious – ‹yœ îy ˜„þœ
27. (c) Languid – inert/apathetic Sx¢yvþü îy Çþ#’V
28. (d) Jettison – þ™!îû“þÄy† „þîûy
29. (a) come of – take birth S‹§Ã@ùÌ£’ „þîûyV– come off –

take place S‡ÝþyV– come up to – be equal S¢›y˜
£çëûyV– confer on – give a title Sö…“þyî ²Ì”y˜ „þîûyV

30. (a) die of (a disease), die for (country), die from
(an effect), die through (neglect), die in (battle),
die by (violence/weapon)

31. (d) liking
32. (a) Greek to one – xîy•Ä– green horn – x˜!¦þKþ–

hard and fast – î¤y•y•îûy
33. (b) foe – Ÿe&– timid – ¦þ#“%þ– dim – x˜%Iµœ
34. (d) queer – !î!‰þe (peculiar, curious), reconcile –

Ÿyhsþ „þîûy– pastoral – @ùÌy›Ä
35. (c) entomology
36. (c) 22 + 22 + 42 + 32 = 33

32 + 22 + 52 + 42 = 54
62 + 52 + 42 + 32 = 86

37. (a) öÝþ!îœ ç ö¢yšþy xyœy”y !‹!˜¢ !„þlsþ ”%!Ýþ£z xy¢îyîþ™eÐ
38. (c) 15 – 13 + 10 × 5 ÷ 5 = ?

15 × 13 – 10 ÷ 5 + 5 = 198
39. (d) 12 × 9 = 108  810

15 × 9 = 135  513
13 × 8 = 104  410

40. (b) 52 + 72 = 74
42 + 92 = 97
62 + x2 = 157

 x 121  = 111
41. (b) £zîûyî“þ#

£zîûyî“þ# ˜”#!Ýþ ›yëûy˜›yöìîû xî!ßþi“þÐ

42. (d) ¦¤þy‹!Ýþ ¢Á™)’Å „þîûöìœ–
E

B

A F

C D
 !îþ™îû#öì“þ

 E, A, F ~„þ¢yöìí !“þ˜ þ™,öìÛþ ö”…y ëyöìîÐ
43. (d) Satelite

Sun ~„þ²Ì„þyöìîûîû Star ~î‚ Moon ~„þ²Ì„þyîû SateliteÐ
44. (b) BUILDING

Music has a Rhythm & Building has a Design.
45. (c) baab

aabb / aaabbb / aaaabbbb / a
46. (c) 6

²Ìí› Šéöì„þ 4 ~îû !îþ™îû#öì“þ 1 ç 2 ö˜£z ö¢Ýþy ßþ™ÜT ~î‚
x!hsþ› !‰þöìe 4 ~îû !îþ™îû#öì“þ 3 ç 5 ö˜£z ö¢Ýþy ßþ™ÜTÐ

47. (b) XVTZ
M

L

–1
K Q O

N P R

+3 –1 +3

Y

X

–1
S U W

V T Z

+3 –1 +3

48. (c) 22
‘22’ ˜y›y!Bþ“þ x‚Ÿ!Ýþ Ö•%›ye î,_ ç xyëû“þöìÇþöìeîû
xhsþ†Å“þÐ

49. (c) 52 × 45 = 30  (5 × 2) + (4 × 5) = 10 + 20
= 30
73 × 21 = 23  (7 × 3) + (2 × 1) = 21 + 2
= 23
84 × 52 = 42  (8 × 4) + (5 × 2) = 32 + 10
= 42
62 × 43 = 24  (6 × 2) + (4 × 3) = 12 + 12
= 24

50. (a) M A N = O
S I N = 14
13 + 1 – 14 = O
19 + 9 – 14 = 14

  H O T = 3
8 + 15 – 20 = 3

51. (d) G O I N G
3 8 2 5 3

C A S U A L
4 0 9 1 0 6

L O G I C A L
6 8 3 2 4 0 6

xÄy!‰þ¦þy¢Å
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52. (b) PO

HG, IJ, LK, MN, PO

53. (b) öîy˜
àþy„%þîû”yîû ~„þ›ye öŠéöìœîû ~„þ›ye „þ˜Äy ›yöì̃  “þyîû !˜öì‹îû
öîy˜Ð

54. (d) R A T  18 + 1 + 20 = 39
C H A T  3 + 8 + 1 + 20 = 32
  T W I T T E R  20 + 23 + 9 + 20 + 20 + 5 + 18 =
115

55. (a) „þ“þ=!œ !”˜ !˜öìëû ›y¢ £ëû– xyîyîû „þ“þ„þ=!œ ›y¢ !˜öìëû îŠéîû
£ëûÐ

!”˜

îŠéîû
›y¢

56. (b) ~…yöì̃  ²Ì!“þ!Ýþ !îî,!“þ I-type (particular affirmative)Ð
“þy£z öëöì„þyöì̃ y ”%!Ýþ !îî,!“þ öíöì„þ ö„þyöì̃ y !¢kþyöìhsþ vþzþ™˜#“þ
£çëûy ¢½þî ˜ëûÐ
xyîyîû– !¢õþyhsþ I ç III ”%!Ýþ !îþ™îû#“þ îy þ™îûßþ™îû !îöìîûy•#Ð
“þy£z ~öì”îû ›öì•Ä öë ö„þyöì̃ y ~„þ!Ýþ !¢kþyhsþ £öì“þ þ™yöìîûÐ
¢%“þîûy‚ ¢!àþ„þ vþz_îû £œ bÐ

57. (d) 1/1/1990 öíöì„þ 1/1/2007 ¢yœ þ™ëÅhsþ Odd day 21 îy
0!Ýþ
 ö¢y›îyîû + 0 ö¢y›îyîûÐ

58. (a)

 'D' ¢„þöìœîû ›yGþ…yöì̃  îûöìëûöìŠéÐ
59. (a) 5 + 2 = 7

2 + 7 = 9
7 + 9 = 16
9 + 16 = 25
16 + 25 = 41

60. (a) 6 + 9 + 10 = 25
8 + 3 + 14 = 25
11 +13+1 = 25

61. (d) ²Ìí› !›× •y“%þ …¤y!Ýþ “þy›y
40 100

54 6

˜“%þ˜ !›×’
46

 !›× •y“%þ ç …¤y!Ýþ “þy›yîû x˜%þ™y“þ = 54 : 6 = 9 : 1
 90 ö„þ!‹ !›× •y“%þöì“þ …¤y!Ýþ “þy›y ö›Ÿyöì“þ £öìî

= 
190
9

  
 

ö„þ!‹ = 10 ö„þ!‹

62. (c)
50 100 % 20%300 – 50   

 
 

63. (c) 25 þ™ëû¢y– 10 þ™ëû¢y ç 5 þ™ëû¢yîû ›%oyîû ¢‚…Äy
= x, 2x ç 3x!Ýþ
 x × .25 + 2x × .1 + 3x × .05 = 30
 x = 50
 5 þ™ëû¢yîû ›%oyîû ¢‚…Äy = (50 × 3)!Ýþ = 150!Ýþ

64. (d) 32!Ýþ xyöì›îû !îe«ëû›)œÄ = 40!Ýþ xyöì›îû e«ëû›)œÄ
32!Ýþ xyöì›îû e«ëû›)öìœÄîû vþzþ™îû (40 – 32) = 8!Ýþîû e«ëû›)œÄ
œy¦þ £ëûÐ

 œyöì¦þîû £yîû  8 100 % 25%
32

  

65. (a) Aôé~îû ~„þyîû 1 !”öì̃ îû „þy‹ 1
20  x‚Ÿ

“þy£öìœ 4 !”öì̃ îû „þy‹ 4 1
20 5   x‚Ÿ

îy!„þ „þyöì‹îû x‚Ÿ 1 41 5 5    x‚Ÿ

B, ~„þy 4
5  x‚Ÿ „þy‹ öŸ¡ì „þîûöì“þ ¢›ëû ö˜ëû 12 !”˜

“þöìî 1 x‚Ÿ „þy‹ öŸ¡ì „þîûöì“þ ¢›ëû ö˜öìî 512 154    !”˜

66. (c) “,þ“þ#ëû ¢‚…Äy = 100
²Ìí› ¢‚…Äy = 120, !m“þ#ëû ¢‚…Äy = 150
 ²Ìí› ¢‚…Äy– !m“þ#ëû ¢‚…Äyîû

120 100% 80%
150

  

67. (d) þ™%öìeîû îëû¢ = x
!þ™“þyîû îëû¢ = (47 – x)
(47 – x) + 4 = 4(x + 4) x = 7

68. (b) m = 20, n = – 5

ö›yöìÝþîû çþ™îû œy¦þ îy Çþ!“þ  mnm n %
100

  

20 (–5)20 – 5 %100
     = 14%

•˜yd„þ !‰þ£« ö›yöìÝþîû çþ™îû œy¦þöì„þ !˜öì”ÅŸ „þöìîûÐ
69. (d) m = 20, n = 30

20 30 600t 12
20 30 50


   


!›!˜Ýþ

70. (b) ™)öìîÅîû ÷”‡ÅÄ x ç ²Ìßþi y £öìœ– öÇþešþœ xy
÷”‡ÅÄ 5% £Éy¢ ç ²Ìßþi 5% î,!kþ öþ™öìœ öÇþešþœ

(x – x × 5%) × (y + y × 5%) 
95x 105y

10000




öÇþešþœ Ÿ“þ„þîûy „þ›öìî
95 105xyxy –

10000 100%xy



  = 0.25%

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20244

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

71. (d) ‹˜¢‚…Äy £Éyöì¢îû £yîû (r) = 5%

 î“Åþ›ỹ  ‹˜¢‚…Äy = þ™)öìîÅîû ‹˜¢‚…Äy  2r1
100



 36100 = þ™)öìîÅîû ‹˜¢‚…Äy  251
100



 36100 = þ™)öìîÅîû ‹˜¢‚…Äy × 361
400

 þþ™)öìîÅîû ‹˜¢‚…Äy = 40000
72. (c) ‰þyîû!Ýþ „Ïþyöì¢îû ö›yÝþ ¢›ëû =  13 : 45 – 10:30

= 3 ‡^ùÝþy 15 !›!˜Ýþ = 195 !›!˜Ýþ
²Ì!“þ!Ýþ „Ïþyöì¢îû öŸöì¡ì 5 !›!˜Ýþ !îîû!“þ íy„þöìœ
ö›yÝþ !îîû!“þîû ¢›ëû 5 × 3 = 15 !›!˜Ýþ

 ²Ì!“þ!Ýþ „Ïþyöì¢îû ¢›ëû 195 – 15
4

  !›!˜Ýþ = 45 !›!˜Ýþ

73. (a) ”%öì•îû îÄî£yîû £Éyöì¢îû £yîû 25
100 25


 ×100% = 20%

74. (c) 120 100 400
20 10

 


 Ýþy„þy

75. (a) “þyöì”îû œ¦þÄy‚öìŸîû x˜%þ™y“þ = 5 × 2 : 6 × 5 : 4 × 6
 = 5 : 15 : 12

76. (d) •!îû– ö›yÝþ „þ›Å# x ‹˜Ð
Ÿ“Åþy˜%¢yöìîû– 60%x + 800 = x

îy– 
60 x 800 x

100
 

îy– 
60x x 800

100
 

îy– 
40x 800
100



îy– x = 2000
 þ™%îû&¡ì„þ›Å# = 2000 × 60% = 1200 ‹˜

77. (c) 80 !„þ!›/‡^ùÝþy = 80 ×
5

18 !›Ýþyîû/ö¢öì„þuþ

 !˜öì’Åëû ¢›ëû 
400 400 18

5 5 8080
18


 


= 18 ö¢öì„þuþ

78. (a) ¢%öì”îû þ™!îû›y’ = (520 – 400) = 120 Ýþy„þy
I 100r
P t





îy– 
120 100r 6%

400 5


 


79. (c) ²Ìí› ²Ì„þyîû ç !m“þ#ëû ²Ì„þyîû !‰þ!˜îû !›×öì’îû x˜%þ™y“þ
= (60 – 55) : (55 – 40) = 5 : 15 = 1 : 3
 !m“þ#ëû ²Ì„þyîû !‰þ!˜ ö›Ÿyöì“þ £öìî = 3 × 50 = 150  ö„þ!‹

80. (b) •!îû– ¢‚…Äy ”%!Ýþ 3x ç 4x

²ÌÙÀy˜%¢yöìîû– 
3x 2 7
4x 2 9






îy– 28x + 14 = 27x + 18
îy– x = 4
 ¢‚…Äy ”%!Ýþ 3 × 4 = 12 ç 4 × 4 = 16

81. (a) •!îû– ¢‚…Äy ”%!Ýþîû ¢y•yîû’ vþzêþ™y”„þ = x
¢‚…Äy ”%!Ýþ £œ = 3x ç 4x
~öì”îû †¢y= = x
¢%“þîûy‚ x = 4
¢‚…Äy ”%!Ýþ = 3 × 4 = 12, 4 × 4 = 16
~öì”îû îöì†Åîû ¢›!ÜT = (12)2 + (16)2 = 144 + 256

= 400

82. (b) 7 21 210.07 , 2.1 , 0.21
100 10 100

  

£z£yöì”îû œ¢y= 
œî=!œîû œ¢y=
£îû=!œîû †¢y=

=

7, 21, 21 
100, 10, 100 

~îû œ¢y=
~îû †¢y=

= 21 2.1
10

 

83. (c) •!îû– ¢‚…Äy ”%!Ýþ a ç b
¢%“þîûy‚– a + b = 25 ...(i)
ç a – b = 13 ...(ii)
(i) ç (ii) ¢›y•y˜ „þöìîû þ™y£zéôôôé
2a = 38
 a = 19
b = 25 – 19 = 6
£z£yöì”îû =’šþœ = 19 × 6 = 114

84. (a) ›öì̃  „þ!îû– ö›yÝþ ²ÌöìÙÀîû ¢‚…Äy = x!Ýþ

²ÌÙÀy˜%¢yöìîû– 25 + (x – 25) ×
2
5 = x × 

60
100

îy– 2x 50 3x25
5 5


 

îy– 
2x 75 3x

5 5




îy– x = 75

ö¢ vþz_îû „þöìîûöìŠé 
6075 45

100
   !Ýþ

85. (c) •!îû– ¢öìîÅyF‰þ ˜Áºîû = x

þ²ÌÙÀy˜%¢yöìîû– 
55x 45x 40
100 100

 

îy– 10x = 40 × 100

îy– 
40 100x

10




îy– x = 400

——————


